Stoichiometry Worksheet:  Mass to Moles 
Name: 




 
Date: 



Period: 

1. If 3.00 moles of H2O are produced, how many grams of oxygen must be consumed?
2 H2 + O2 → 2 H2O
2. Using the data from problem 1, how many grams of hydrogen gas are used? 
2 H2 + O2 → 2 H2O
3. Given the following equation: 2 K + Cl2 → 2 KCl

a) How many grams of KCl is produced from 2.50 g of K and excess Cl2? 
b) How many grams of KCl are produced from 1.00 g of Cl2 and excess K?
4. The average human requires 120.0 grams of glucose (C6H12O6) per day. How many grams of CO2 (in the photosynthesis reaction) are required for this amount of glucose? 

The photosynthetic reaction is: 6 CO2 + 6 H2O → C6H12O6 + 6 O2

